CIEF02_X-Normspektralwerte yma(A)=1

XFo2_x,1A)=
20 Ay
1o ----

400

A1l Foz_x, 1M +A12MEo2_x,1N)
+A135r02_x,1(A)
1,9473 -1,4144 0,3647 A570)
PB0:3% £op x 1(A)=18,49
XFo2 X_,1:0’2218
Yro2_x,1=0,2646

600
WellenlangeA /nm

BG511-1A 1




CIEF02_X-Normspektralwerte yma(A)=1

XFo2_x,1A)=
20 Ay
1o ----

400

A1l Foz_x, 1M +A12MEo2_x,1N)
+A135r02_x,1(A)
1,9473 -1,4144 0,3647 A570)
P55:3% £op x 1(A)=18,31
XFo2 X_,1:0’2303
Yro2_x,170,2772

600
WellenlangeA /nm

BG511-1A 1




CIEF02_X-Normspektralwerte yma(A)=1

XFo2_x,1A)=
20 Ay
1o ----

400

A1l Foz_x, 1M +A12MEo2_x,1N)
+A13SF02_x,1A)
1,9473 -1,4144 0,3647 A570)
P50:3% £op x 1(M)=18,18
XFo2 X_,1:0’2412
Yro2_x,170,2923

600
WellenlangeA /nm

BG511-1A 1




CIEF02_X-Normspektralwerte yax(A)=1
Xro2_x,1M)=A11l Foz_x, (M) +A19ME02_x,1(A)
+A135r02_x,1(A)

2 Alj 1,9473 -1,4144 0,3647 A570)
P45:3% oy x 1(M)=18,16
XFo2 X_,1:0’2556
Yro2_x,1=0,3105

400 600

WellenlangeA /nm

BG511-1A 1




CIEF02_X-Normspektralwerte yax(A)=1
Xroz2_x,10)=A11l Foz_x,1A)*A12ME02_x,1(A)

2,0 Aqj

400

+A135r02_x,1(A)
1,9473 -1,4144 0,3647 A570)
P40:5X rgp x 1(1)=18,33
XFo2 X_,1:0’2748
ro2_x,:=0,3324

600
WellenlangeA /nm

BG511-1A 1




CIEF02_X-Normspektralwerte yax(A)=1
Xroz2_x,10)=A11l Foz_x,1A)*A12ME02_x,1(A)

2,0 Aqj

400

+A135r02_x,1(A)
1,9473 -1,4144 0,3647 A€570)
P35:5% £ x 1(1)=18,83
XFo2 XT1:0,3011
02:)(’1:0,3584

600
WellenlangeA /nm

BG511-1A 1




CIEF02_X-Normspektralwerte yax(A)=1
Xroz2_x,10)=A11l Foz_x,1A)*A12ME02_x,1(A)

2,0 Aqj

400

+A13SF02_x,1A)
1,9473 -1,4144 0,3647 A€570)
P30:3X g x 1(1)=19,95
XFo2 X_,1:0’3376
2:)(’1:0,3877

600
WellenlangeA /nm

BG511-1A 1




CIEF02_X-Normspektralwerte yax(A)=1

Xro2_x,1M)=A11l Foz_x, (M) +A19ME02_x,1(A)

+A135r02_x,1(A)

2,0 A1y 1,9473 -1,4144 0,3647 AE570)

P25:5X £ x 1(N)=22,31
02 x,1=0,3880

_x,70,4167

400 5 600

WellenlangeA /nm

BG511-1A 1




